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No. 1
(cin !5 x2+Tanis")=3 X 12 =

SMIEE £1F.7 sin cos tam EKnF LT,
SIN30 = 0.5 &y

0.5 X

"

M+ |- MRC MRC =
cosS30 = 0. 84L460D254

—= X 0.5 =

tan 30 = 0.5973502

| —0.8660254 = X M%
0.5 X M+ MRC MRC | L9 =
Sin \5 = 0.2588 19

X Mt |- MRC MRC ={
cos |5 = 0.965% 253

-
—

X 0.258819 =
tan 15 = 0.267949\



No. 2

Sim 30 =0.5
coS 30 =0.2660254
tam 30 = 0.5773502

Si’n ‘So = 0.25%%19
CoS |5 = 0.9659258
tam (T = 0.26%9449|

SiNTS = 0.130524
coS 7.5 = 0.99 14444
tan 75 = 0.13 16522

1 n 3."(‘50 = 0.0 b54 021
0.49%3 5849
0.0 65543

[}

co S 3.75

tam 3.15
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No.3
Sin etan alCET 27 R w4 LT
[ 30°]
(S 1 ++4 )=2<9

=0.2693375
(S2 +t 1 )+-3%9 =02628917
(S3 %1 )+4=-2 =0.2596687

(15°]
(S 1 +41)+2=2=0.1(31692

(S 2+t 1)+3+2=0.130931]|
(83 +t ')+T4+2=0.1\305507

(7.5

(St +t1)T272=0.0655445
($2 +41)-3-2=0.0068450T7
(S3++t1)=4+2=0.0654037

(S vt 1)32% 2 @ %k atan &IEOLLET,
(83 +11) T4 =2 2¥Ba simethidd LT,
(S2 +1 1) =3 othb 27
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(eim " x2+tam ) +324
= 4.34332315 xi07° 4

tam o.25 = 4.363350%21 %077 -

<im o0.25

4.363309285 x107° _¢
72015 L34,
A 314159 2¢49

B 3.14 161259

C 3, 1415826 85

T 3.14159 2454



